


Consider the IPCC
Summary for Policy
WELGIE

Four major options

Enormous amount of text

Jargon and acronyms

Does not specify course of action

Was this figure made for
policy makers, or other
scientists?

Breakdown of contributions to global net CO2 emissions in four illustrative model pathways

Fossil fuel and industry
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P1: Ascenario in which social,
business and technological innovations
result in lower energy demand up to
2050 while living standards rise,
especially in the global South. A
downsized energy system enables
rapid decarbonization of energy supply.
Afforestation is the only CDR option
considered; neither fossil fuels with CCS
nor BECCS are used.
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P2: Ascenario with a broad focus on
sustainability including energy
intensity, human development,
economic convergence and
international cooperation, as well as
shifts towards sustainable and healthy
consumption patterns, low-carbon
technology innovation, and
well-managed land systems with

limited societal acceptability for BECCS.
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P3: A middle-of-the-road scenario in
which societal as well as technological
development follows historical
patterns. Emissions reductions are
mainly achieved by changing the way in
which energy and products are
produced, and to a lesser degree by
reductions in demand.

060 2100

Billion tonnes CO, per year (GtCOz/yr)

P4

—

P4: Aresource- and energy-intensive
scenario in which economic growth and
globalization lead to widespread
adoption of greenhouse-gas-intensive
lifestyles, including high demand for
transportation fuels and livestock
products. Emissions reductions are
mainly achieved through technological
means, making strong use of CDR
through the deployment of BECCS.



Now consider a
simplified message




To Achieve Paris Goals
We will have to remove atmospheric carbon dioxide

Mitigated

GHG
emissions

(=2}
o

GHG emissions (GTCO,elyear)

Gross positive GHG emissions

CO, from fossil fuels, industry CO. :i””:j:j!rl. <

= :mlllnd use changes CH,, 2 49 GHG emissions
N,0 and F-Gases

=20 1 | 1 | e I 1 l 1 I
2020 2040 2060 2080 2100
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Who’s Listening
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Why do scientists
communicate so well
with each other, and
fail with decision
NELGIEY
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Paradigm

The sum of information
that scientists associate
with a topic.
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For instance, Mid Ocean Ridge Basalt






To me, Mid Ocean
Ridge Basalt conveys
the entire structure of
the earth:

« Spreading ocean basins

« Subduction zones
consuming the crust

* Volcanoes building new
land

* The grandeur of plate
tectonics
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But for most
people, rocks
are something
you find in a
stream.
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When you don’t share a paradigm:

You don’t have the abllity to understand the same things,
You don’t even have a framework for understanding,
You can't translate the words.

And it is extremely rare to share a paradigm
with a decision maker.
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How to Bridge Paradigm Gaps

Use clear, common language
Use mixed phrasing for mixed audiences
Anchor to an iconic analogy

Self aware and self correcting
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What’s Your
Message
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Developing
Messages







How can California achieve 125 MT/year of negative emissions
by midcentury?

m Natural and Working m Waste Biomass Conversion m Direct Air Capture with
Lands to Fuels with CO, Storage CO, Storage
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25 MT/year 84 MT/year 16+ MT/year
S20/ton CO2 S60/ton S190/ton

Technological readiness: mid-to-high — no new breakthroughs required =
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